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1. The ratio of income of A and B is 5 : 4 and their expenditure is 3 : 2. If at the

end of year each saves ¥ 1,600, then the income of A is: .
2 < SHe —2\5. = |boo

(A) 3,400 (B) 3,600 L N
L) T4,000 _ (D) T4,400 =T =leeo
NS SX&oo C e =1 e )
4 ; 2 N = Roo
2. The mean proportional between 12x2 and 27y? is : &ioe T 2 = 0O
% ;8xy e st 4y O
) Xy (D) 19.5xy
Svnlad o
3/. log, log, log4-2§«6i- 2 log\ﬁWI to :
A) 2 Aoy, A5 2T 4B 3
(A) y 5 VT aly L B)
£ 3 |ty D) T
b\(b+c— ¢\(c+a-b +b—)
4.  What is the value of (x_c)( "ol (E—](c ") (%)(a /s
X X% X
(A) xabe ®) st T odie sy
© -1 R wll be o
}, A number consists of two digits. The digits in the ten’s place is 3 times the
= digit in the unit’s place. If 54 is subtracted from the number, then the digits are -
reversed. The number is : 93-S =
A) 39 (B) 62 2= 59
L) 93 (D) 31
6. A person purchased 2 apples and 5 bananas at the cost of ¥ 90. Later he visited
o)) “to another shop where shopkeeper told him that if you give me ¥ 50 and one
banana, I can give you 3 apples. He agreed to the deal. What is the cost of one
apple and one banana ?
(A) (15,10) (B) (10,15) X f 9 B =90
10, 20 20, 10 =
(€) (10,20) B OO0 i 9 B
SPK R -
4 = 3X-)O

L2t S’-(;'%f_)ﬁc/):ﬁo
xt ISx YIS0 =50
7(7_20/,;: [O



0is 1, then the value of 'k’ is :

1 +k 2_24 KK < 0
w fthe equaﬁonxz—-::; W(} ' SRR Y

: ‘i ‘
goﬁﬂlfin‘eoffhemow )1 RO 53!
& a o -! Lo

| 1
© -* o B Bb [ir=3= (f) is — 3, then
; n =01 .
Cg\t")y huf ¢ of the 100t of the cubiC equatlo 3»0“‘5* AR = ;.( "g \'\\ L‘\ra
8 If ont . - ; , ‘
T e ST
(a) 143 o) 14 (7
% 115“3 _irlzg @) -L-\t2= 2—§xf> =Cawn
ch of the following option ?

& }Whl h
M’l‘he shaded area i represented by .

/MV“" Syrlies P
i
© x+y>6; k-ﬁ@’po
) x+y> 62— y>0;$<0

x’

rut (=6~

w ends mixture of two kinds of foods to a person so that
Cé} - f carbs, 25 units of protein, 15 units of fat

‘mixture contains at least 45 units 0
and 15 units of fibre. The above contents of nutrients are available in the foods

as below

Carbs | Protein | Fat | Fibre ~
Food-1 20 5 3 2
Food-2 | 10 2 |4 5

(= uﬁts‘?f fog?i‘-ll-w\is mﬁgi wig “?’ units of food-2, how dietician
recommendation can be expressed ?
(A) 20x+10y<45;5x+2y>25; 3x + 4y < 15; 2x + 5y > 15, x> 0; y 2 0
(B) 20x+10y<25; 5x +2y >45; 3x+4y < 15; 2x + Sy > 15; x> 0; y 2 0
I 20:+10y 245, 5x+2y225;3x +4y 2 15; 2e+5y215,x20;y20
o D) 20x+10y<ds; Sx+2y <253+ 4y < 15; 20 + Sy < 15; x 2 05y 2 0
e SPK
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/ The sum requlred to earn a monthly interest of ¥ I, 200'at 18% per annim
—/_J

SImple interest is : as
cT - Ay
(A) 50,000 (B) 60,000 2 “ie° ‘\éz iy § ;
% 80,000 (D) 66,000 . 0etge 4% e
- \uo' CUJ“}
The compound interest on ?14(3 000 at 12% per annum compounded quaﬁerly
4’ for 6 months is : | o fA o R
(A) T2,643 ;i:ﬂ “(B) 2,463 sk b
(©) 22,364 ¢ D) T2436 (x — o0 (14053 I)

(S8
3. At a certain rate of interest per annum, the difference between the compound

/ interest and simple interest on ¥ 3,00,000 fc):wrs is ¥ 480, then the rate
of interest per annum is :

A) 2% % %ww((“"‘> I- w) - Yo
o)
(C) 6% =i (D) 8% v
¢ /V” K,f - = 0ot
Tl e S
14, The value of a machine deprediates every year at the rate of 10% per annum, =17
on its value at the beginning@Bthat year. If the present value of the machine is

¥ 72,900, then machine’s worﬂ?.‘i years ago was: ‘= |0 \I—3 T
(A) 94,710 (B) 80,00 03(;% P
% 1,00,000 (D) % 75,087 “ O— p 9
126/7 qu (.l (=>
rIP (
What is the effective rate of interest when pnnc:pal amount of ¥ 50,000
deposited in a nationalized bank for one year, correspondmg toa nommal rate

of interest 6% per annum paxatale half yearly ? 1 : ;O i 7 &)
(A) 6.06% o (B) 6.07% . ~o~o~( \4GHe
© 6.08% o e .

(" o g it 2.

16. Kanta wants to accumulate 2;’91 3001 m her savmgs account after three years
The rate of interest offered by bank is 64 "«:ﬁper annum cgmpounded annually
How much amount should she invest today to achieve her target amount P

T 4,09,600 (B) ¥4,37,500 ¥
(C) 46,900 (D) 49,600

1 =0 (10695 ) o
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2,000 in a bank Where the: amiount doubles at
sitof T 1 1| be the total amount he will haye

depos
compound Iferes! ey 5 MO 2090 &
ey yeas 7\ 2900 o
(220D r_(_@;,? 1,20,00 "0
(A) 96,000 PO 4 5.0 5 roﬂ
- 7'\
(€ T1AN0 A — ¢!l \(9\0
p i &2 uf
five years is given below : [@e:l?,wo
EPS) of a compény for f1
/ The Earning Per Share ( o
2022¢ 2023
20 | 60| 90
wth Rate (CAGR) of EPS. L

Calculate the Compounded Annual Gro -9

(A) 2447% (B) 2347% CN“LEQ/OO Pkis
: 1

(D‘} 21.47%

Q) 2241% :
7 S
o

Iﬁ'ﬂ'}n an account paying interest @ 9% '&;year compounded monthly, %200 is

gﬂnvested at the end of each month. What is the future value of this annuity
e e s
% ? . P+ :
after 10® payment ? Fl/@j preo Faz A 'cfn) e
{Where (1.0075)10 = 1.0775} (e 3
=5 0 oA’
(A) 1,022 ABy32,066 _ o0 &
(©) 2,044 @) 2,155
o :

T4 | ~J
20, What is the present value of ¥ 1"%
compounded annually ar 10% interest €t ?

0 to be received after two years

(A) %800 35 e (o2
() %836 D) 7835 (=L
= SPK

0]
( SPK
?77 What is the annual contribution required by an organization to accumulat
OZ\/,  20,00,000 in ten years for the construction of a new manufacturing plan:

utilizing a sinking ‘fund with an annual interest rate of 6% compounded
e AQeT ')

annually ?
{Where A(10, 0.06) = 13. 180785}h’ 20,000\ f(i -+ 0-06) 1‘)
. 0.0h
M(ISI 73603 g)B) ?16744090 " 20,0 ccn(O-SO \

(C) %1,75,433.60 ND) % 1,83,714.28 A

3,@/0000:/\([3 . MOWU)

An investor intends to purchase a three year ¥ 1,000 par value bond having
nominal interest rate of 10%. At what price the bond may be purchased now, if

it matures at par and the investor reqtguizs a rate of return of 14%
T THoo
(A) T904 907.125 [0 oo oo

(C) 90525 'C\f)f) % 909 ,O(M ) oo

s o 4‘4) Q H)B

73C’ A loan of ¥ 16,550 is to be paid in three equal annual instalments at compound

interest. The value of annual instalment, if the rate of interest is 10% per
16,550 1g,c60 16,559

2%

—

annum is :
%6,655 qb) 71243 (6(5§D~1—‘l”|
A, A» A$
(C) T6,565 'Fﬁb) % 1,343 .,
N F ;L‘,l/l)l

-~ o\ |
24, A Perpetuity has a cash flow of ¥ 65\ and a required rate of return of 8%. If
the cash flow is expected to grow at a constant rate of 4% per year, then the

intrinsic value of this perpetuity (present value of growing perpetuity) is :
(B) 713,000

15,625 c
(©) 714,250 (D) % 16,667 b2
o 26 -001 g
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SPK in such-a wa
d to sit in a row 1n Y
rls, they are requir® rent ways the
pssiof 4 boys and 3 girls her. COmpUtE: in how many dlffe y y
, et e can sit toget gy % 2472
that no Y+ 2
g o N =
A 60 ) 40 Ve — ?
@ 20 /L 0 — S’ ?77" 93 -

f 8 different counters marked as

be formed Gf
mbmanons can e and there being at least one

w How many total €O 8, taking 4 counters ata t},

1,2,3,4567&% h cotiibination ?
odd angd one even numbered counter in eac 69 U U2 otw| Toled “(
62 >
©) 64 we () petmn, ‘%"t»@"

>
(}yl?ln a party every person shakes hands with every, other person. If there are
/ handshakes in total, ﬁnd the number of persong;in the party. oS

W 309“5%3
A ez s //15 j
© 2 (D) 22"“ o) Stey
b r':. >

28 A selection is to be made for one post of Principal and two posts of Vice-
>K Principal. Amongst the six candidates called for the interview, only two are
eligible for the post of Principal, while they all six are eligible for the post of
Vice-Principal. The number of possible combinations for the selection is »£
(A) 4 (B) 1280 Q’L e '6“‘1’5
o 9; V<2

© 18 20¢5
n.. h\ = O
4} 5 gt»,Lfc ’(V:;:\‘/L
/A roadside tea stall merchant borrows ¥ 9 Oq‘(I" At 2.76% Simple Interest per

annum. The principal and the interest are to be pald in 10 monthly instalments.
If each instalment is double than the preceding one, find the value of the last

instalment,
(A) 1,024 : ‘%4 i Fro-t to
locg - ?wo(#-l o
(© 9,207 D) 409 M 7(;1
. P o LM.«\’ ‘hn.(— €ye+ _ (O u,:% qu? los /

o = (22D 11— 9 b qr L

=T

o 2T LTy,

a. .
(/‘%(/ SPK 91—;——3 O‘b”nm

il s : : o S
(}0//& for an infinite geometric progression, first term is ‘a’, commgp ratio is ‘p’,

the sum is 8 and the second term is Z, then : a+b
—= ; a+r=8 <87
7 G R

a=3&r= — B a=4&r= — ax*= X 5.9
% CLIA = :L24‘ i:l .‘"lji 16 a A ot =5
24 ql 2:% K o %7 oo % asis 7
©) a=T&r= ©) a=2&r= — A= %

8 i Bee 1 32 a+2

/ 24 = (—_\ ot

6’1' The numbers x, 8, y are in G.P. and the numbers x, y, -8 are in A.P. The
values of x andyrespectwely shall be : 2= 2 =ey—(
yls 4 (b= 614(“1’6\1(3) 4,16 \a'x d—>1
© 48 M yaF o gs TE o= ‘0@@

——

ylf fourth term of A.P. series is zero, then what is the ratio of twenty-fifth term
to eleventh term ? -2 o
G+ 2= :/Q:-ﬁo\

A) 5 ®) 4 S

a =, 2\ g

(¢ \ D) 2 =2

/ D mv&—\od —It 7’
W= =4 C

337 Let A = {1, 2, 3} and consider the relation R = {(1, 1), 2, 2),(3,3),4,2),
(2’ 3)’(ls 3)},thenRiS _— .
o) £ Te>2

(A) Reflexive but not bdnsitive

y Reflexive but not symmetric
(C) Synjfietric and Transitive

(D) Neither symmetric nt}gﬁs@e

y If f(x) = x2+ x — 1 and 4f(x) = f(2x), then find the value of ‘x’.

%3/2 (B) 2/3 sacda 2o ]
(C) 3/4 ®) 43 b
(‘1(.17"(' «—) Cs + '}l"\ o

NS e AU i Wi S IS
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59 . DR o L 35 /‘. . ..»-,‘
‘\' \)‘\\ )@CP\ s RS o e L T
(10) _ o
(11 > = ‘E:-F £ 7
SPK o e = € S
eﬂ)"‘x ts, then the total number of proper subsets of set is - ;( > (QL _de L =,
s S — " .
cet contain n elements, _ 40 Evaluate the following integ P2 I W a3
35. (A;; - (B2 1 )7/ € Integral Jf\xs T o e 0 S Is X \.,” _;
m-2 xS s
© ol (D) (A) log %}-& ¢ 1 log (’:i_]_i_ S t Ct‘(‘\) !*;‘\“;"
5 S+1)F ¢ (sl L Voo
: % S — P,
‘k (CY:.,: total population of 50,000. Out of it 28,000 read the newspape, © %log (}il) - {GE(D) l1 8 S gkﬁ:éﬂ M(t+ l’dF 3
36. XtOWII1 2335 b AT Ty while 4,000 read both the newspapers e 213 08|75 jte ) z.
> an two newspapers are : ( Vi b (g u ‘ , | 7
The number of persons not reading any Oftheooo §© ® #6000 41, Find the next number in th /leral( T 'L%{;‘ﬂ% (fH) % ;
2 3 mber in the series 2, 5, 11, 23, 47 S
A) 2,000 )__zoosa SO aﬁﬁ%‘ﬁq@ﬁ) - ~
(A) <y /\Y ), Xu\fﬁ) ( é‘ 34 ) / (A) 84 % 95 _ ,L iﬂ‘gﬁ'x\_ @{_
©) 2,500 oA Yoo ) 98 < D
' AP ! /F
(A 2 +rx-le 07 f g}, /'V?\\

dy
37, If x¥Yxy%=16, thenthevalueofdxat(Z 2) 15 :

42. If TAP is coded as SZO ina languﬁe then howtxl; FRIEND coded in same

- 15“%”"“% 23 0

© 2 24 l@,x{?}-ﬁx% w("'k‘ﬂ d 9 —(
a A
' —70;3 (%I+L) — /:3— 'bgﬁ\a S x = 2%
/ Ifx= t2 andy £, then — dles equal to '
=
3t 3 dy - >t
(A) = 74 .
z (}'.}) 4 Ay & 4
2 3
© 3 i oo i) L
U — T — 4w
dux 2

s
* Ly e — mf)l(,t@%g\»_&az“)_}(_
‘%xloge( )+c

(D) logc(g) +c

SPK

}/ ~[logc x dx is equal to ;
. N

(A) xlog, (ex) +c

/(C) X ]ogc(g) +c

A [ L ody,
fg‘ﬁ%J:, 4

language:} -~ TAP Feien)
(A) CMDHQE f':(B) QEDHCM £z0 EQuDmC
(C) EQIENE EQHDMC , 57 1
d 2 i o, 2 1
AL AT
43, Find the odd man out from the following series : 7 23 47,119, 287
=7 (@A) 119 =2 B 171 'ﬁ(:}h . ,'
(C) 287 (D) 7 ‘
Ca o
‘&/ In a certain code, RIPPLE is wntt@s 613382 and LIFE is written as 8192.
How is PILLER writteri in that codqﬂ. RI\CPPLE
(8Y7 318826 =B 318286 31826
ﬁ:) 618826 ™D) 338816
X9 212526
4/Sv AZ GT, MN,....., YB, EV . The value at blank space (.....) will be :
SH QOCQEFCLH-‘T!‘.L
/(A) H &= mNQ RQRET Y
(C) SK (D) TS Ve WY
b T M o
'\ 7' L 4 SPK v L 5 H
'&ﬁaéijlkﬁ;a&fégéLQ%”“"
\—_F(‘ +6
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rey blilding on 0n¢ floor there are six lats intwo rows facing
[n a multi-st0

6. ¢ and they are allotted to0 A, B, C, D,.E, and F. B gefs an East
e e ich is not next o D. F and D gets diagonally opposite flat, A
3~ facing flay which 18

\X}o a

d E gets an East facing flat. Whose flat is between A

[
facing fl
getsa:JVest a ‘g o e men  w
B [ B C B rope0 b
(:)) 0 £ ®) F spie B
( ;
Vgt
(5 hodhbad . .
@ rl%alkrishna is Ritik’s neighbour and his house is 200 meters away in the north-

47, | K ; 7
/ west direction from Ritik’s house. Jayendra is Ritik’s neighbour and his house
is located 200 meters away in the south-west direction rom Ritik’s house,

Girdhari is Jayendralgmeighbour and he stays 200 meters away in the south-
east direction from @endra’s house. Ritik is -Girdhari’s neighbour and his
house is located 20fmeiers away in north-east direction from Girdhari’s

house. Then where i!@b position of Ritik’s house in relation to Balkrishna’s ? \
——— B .« P &1
Mutb-liast I@\ (B) South-West \ )/
. =) bR
(C) North = &(D) North-East, _ (v e

LY .
} If Ajay stands on hisi‘xne ith his face towards North, in which direction will
/" his left hand point ? &
Q0

(A) North-East O & (B) North ('\L \:'
I~ " A Coud
(C),, East I~ (D) North-West  __¢) 2
(=] LV e £ - L
Ni = M Eadoy botouaddayh 2

49. One morning after sunrise, A and B were talking to each other face to face
very closely at a crossing point. If B’s shadow was exactly to the right of A, in
which direction B was facing ? (ﬁ_mdr, L

N

® West pdo B A L /é-_

(A) East
9N°nh (D) South Lt T R P 74
: —
o SPK L 2 o &

o

(g

CERETF S vV, 'j".«":_., '-’-,"-:."
< TN "’.:-,‘
(13)
SPK
50. If Kiran put her time-piece on the table in such 5 way that at ¢ Rou")é
hand points to Eas i 00 B
p 0 East. In which direction the minute hang will be at 9-3’([)% :‘g ré
(A) South-East o ”‘M.

(B) North-West

})/ East (D) West s
(o)) ¢

0 qred
Q/é‘j ({s)
5], Six persons A, B, C, D, E f\' sitting | i i
/ » B, &, D, E and F.are sitting in a row in a straight line. B s
‘ between F & D. E is between A ‘;i&f A does not sit next to F or D; C does not
sit next to D. F is between which of the following persons ?

Feb A& C

A) B& ! ; = - s
(A) E BFB&C b Bfe-fch
(C) B&D o (D) B&A CERFRBD
) 00 AEC+P. 6. F

Y © cen DBFCEA

oA T g N e
DOyfpln a school cultural committee (ueeting, four girls_Dipti, .gruna, ghzm r&
; 2

Bindu and four boys g\amam, Fantesh, Harendra, Eshaan are sitting izba circle”
F c H L =
e A
(i) No two girls or boys are sitting side by side. K i
e €
(ii) Chandra, who is sitting beng%n Gautam and Eshaan, is Ecing Dipgi JZ
I

7

= around a table, facing each other as uncfelr :

(iii) Faneesh is between Dipti arffAruna and facing Gautamh
=~

(iv) Harendra is to the right ofB’x'fl-:du.

Identify the person whom Eshaan is facing. LN . 'Zl

(B) Bindu \& A

e \_‘,_,. -
Marendra e c

SPK  pcn

(A) Faneesh

(C) Gautam

O m
o
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R
jven beloW : i ] s of three each and are
given be 7 and K are split into groups © o
Six persons B’.D, C(; :;I;vs in such a way that a Person in one row ;s.eiactll‘y
et i ll;nt‘twhe other row. M is not at the € *?;s.of any ror\\/\l' and is to the
facing & perionis facing C. K is to the left of D, wh is facing M.
right of J, Who \Jf e T ML
: immediate left of B 7 (o
"Jx?ls i ®) J ;I'~ . C® D e
¢ R
K -
© D P e D{--MLD\C v €
. —_— —— i m
Which of the following persons are in the same row ? LJ MR e
; ' S
() BDC BrEe 3 he £
(C) MK W) M < N
(&

\) W

answer the questions (53 to 54)

) (

SPK T

i d
d the following information carefully an
ed

eiaw . o3 et .
During an interview, seven applicants sitting 1n aﬁﬁéw are awaiting their turn.

Chandresh is sitting left to Kuldeep but on the pght to Piksha, Reshgna is
sitting right to Kuldeep, Priyanka is sitting right tdiﬁayatn_ but left to Diksha.
Himani is sitting left to Gayatri. The person sitting/ii'the middle must be :

(A) Chandresh BPviksa £ e
(C) Gayatri (D) Priyankg{ Q,}P@)C'» lf: €.

A is B’s Father. C is B’s mother. D is C’s Son. E is A’s mother. T}len how is_
Arelatedto D ? 52 Eaxte

QO _

(A) Uncle (B) Grandsofd c K!g\,

(C) Granddaughter (DY, Father ll{ : k\’ -0
: € e Fodhtn D

Pointing to a man in photograph, a ‘woman said “The father of his brother is \

onl f my grandfather”, then how is that woman related to the man in

=
photograph \), ot \WP% "I*Qf ‘l\l'Gr
(A) Daughter Sister m -put Na
(C) Mother ‘ (D) Aunty b | t
SPK )
Mo-—bev

)

/8.

e

-

- Lt ) o e
A P GG

SPK )

- g o £ > i
> e Yo ¢ -2 Kol o
ot . s o W

A) T Q"
(© R

59. P is the son of Q while Q & R are sisters
If S is son of T, how § is related to p ?

Q- -5 v
(A) Brother (B) Cousin & ¥
(C) Maternal uncle

l
f o
&'—‘ Q —z;* A
(D) Nephew ) ‘ 1
/
= P

60. Sandhya is the daughter-in-law of Shailesh and sister-in-law of Rajan. Manak

is son of Shailesh and only brother of Rajan. Then, how Sandhya is related to
Manak ?

(A) Sister-in-law
(C) Cousin

to one another. T is the m(y,{:ofp\ *-
T 1 {R. 3

(B) Aunty
DV 1
v Sk
61. The Secondary data is collected by : \

u&y International source like World Bmig){ @ - 5«1»5
'\\_/

(B) Observation method.
(C) Interview method.
(D) Mailed questionnaire method.

62. Exit polls are an example of which method of collecting data ?

&?Random sampling

(C) Census

(B) Investigation
(D) Quota sampling

SPK
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Metro station from early morning

follows which type of frequency curve ?
0

3. The 9 hours
hours 10 peak moming A J-shaped curve A
) Bel shaped CUTVe (D) Mixed curve
) U-shaped curve
i =

Ners

of a data set?
alues in the data set

tween the highest and lowest v
the mean and median of the data set

What i the range

e difference be

64.

B) The difference between

(C) The number of data points in the data set

(D) The standard deviation of the data set

65. Series in which frequencies are conwing to each

class interval in the series :
Mumulative frequency series

(D) Mid value

(A) Frequency

(C) Deviation

66. The Ogive can be used for making

(A) short term projection (B) medium term projection

(C) long term projection D) group frequency distribution

(B) Tabular presentation
(D) Graphical presentation

a
SPK

(17)
SPK

68, What type of data is most appropriate for representin
(A) Continuous data 3

smg a Pie chart 9
B) Categorical daty

(C) Ordinal data (D) Interval data :

(W)
If the class intervals of n‘aicﬁ d
69. ce ata are 10 14, 15-19, 20-24, th
borndaries s e . » then the first clags
0 [ l \1. i
9.5-14.5 ;‘f:’Z’ (B) 10-14
(©) 10-15 " (D) 105155

70. What is the purpose of stratified random sampling ?
(A) To ensure that every individual in the population has an equal chance of
being selected.
}V To divide the populatlxq’:x} into subgroups and then randomly sample from
each subgroup. ey
(C) To select individuals ﬁé‘éed on their availability and convenience.

(D) To select a fixed pfr&ntage of the population without any specific
criteria.

The mean of a group X is 70 and the mean of group Y is 85. If the number of

observations in group Y is five times that of group X, then the combined mean

of both the groups is : o -0 g+ 2G5 ¥4
(B) 80 —

71.

(A) 75 0 = -
©) 7751~ I‘Iﬁ:ﬁ’ -y 82.5 L5000 Mk
~ =85 Sn
; 1::) L . . — - — r\ﬁ

72. The Median of the following.frequency distribution 1s : %2% )

[ Jo-10] 10-20 20-30 | 30-40 | 40-50 | g 1 £

——— .
Lﬂx) 8 ] 30 40 12 10
A l Yo}

@ 33 4 b 16 @ 25
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(18) 1= '%/

are 70. 8 and 68.6
i oderately asymmetrlcal series
the mean a media m 1 o n -
73. jfthe ¥ ly, then the most robable It 7 -
respecnve 0 o m:c\’ .-\'l 0% v
% _ o290
72-5 - QJ 63 .6 o %

H o &

l\-
_ewed distribution hich ©
/ JFor & moderately-skew ed di E

holds ? .
Mean — Mode = 3 (Mean - Median)

(B) Median— Mode =3 (Mean— Median)

ian =3 (Mean -~ Mode)

(C) Mean- Medi
(D) Mean— Median =3 (Median — Mode)

£ the following relationship

N
: 2
75. What is the coefficient of range for the aﬁservanonsi(), 28,32, 491 el
' 'l ‘
’ 5 2
» 200 u
(C) 40 ( "> /
& e/o/ 8o
76. In which of the following there is no impact of presence of extreme
observations ? 2% ol
uartile deviation d’r" (B) Range
(C) Standard deviation (D) Variance
N
77. 1If each observation of a set is dividedg 10, then the Standard Deviation of
the new observation is :
S

/{ o
%) 10 of Standard Deviation of origjal observation.

1t
®) Too of Standard Deviation of original observation.

(C) 100 times of Standard Deviation of original observation.

(D) 10 times of Standard Deviation of original observation.

a
SPK

W = B0 2.-E6) r K13)
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78. The Standard Deviation of the serjes 3,6,9. 12
909,70 15is

) 4.24 "
A anl(q) ® 636
(©) 4.12 % oy s
~
79. The quartile dz 1|\at10n of the distribu&ﬁl of the following data is :
2 ~) g L
i il o’ @ - 0
fi 2 4 (o' .
) 4 {3‘ {1 1 bt
@ o & s
o 14 O~ E
© \ S (D) 12

(}yh @gi Sﬁ &0 //\ =
/ Which of the following pairs of evenﬁare mutually exclusive ?
(A) A :The student studies in a sch;l]
B : He studies Geography. g;
(B) A :Archnawas born in India. «
B : She is a fine lawyer.
(C) A :Sitais 16 years old.
B : She is a good folk dancer. \l

% - Imran is under 15 years ofa:; Ei
B : He is a voter of Delhi. ;ﬁ

/
for any two events AandB?

(B) P(A- B)=P(A)- P(ANB)
(D) P(A-B)= p(B) + P(ANB)

81. Which one holds correct
(A) P(A-B)=P(A)-P(B)

(C) P(A-B)=P(B)-P(ANB)

SPK
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SPK '
jon site with the following wages for

work i

¢ Jabourers ar'e s | e
Eafl}: day of working @5) e | p é{ L P\Ta'
e 620 4\0/07 T e hat is the probability that his
ol c;rkers is selected at random, “-:.\ a

the W

A onev(:)fuldebe Jess than the average Wage ? P \{

k)
wageo gh ®) 0.372:= !
) Y 9

(D) 0.459;;,
(e}
o

emn of different sizes numbered from 1
s the probability that the

% 0.500

ntains shoe pairs of same patt

box cO ”
o :: 1(; If a shoe pair is selected at random, wha; ;
sumber on the shoe pair will be @ multiple of 50r 6 & o & > te
0.33 9L¥L (B) 0.25 J & y
; 3 / :
() 020 7 (D) 0.378m >4 %: - %= .
. “/ f ("\0\( v e | a
|

WWO cards are drawn at random from .a pack dff52 cards. The probabilitigf v

/ getting either both the red cards or both VK_mgs cgtgs is e @ E. +

o 02488 & L, {3 ) 0.4288 gjf & frg B
"2 2 UL -

© osas g T ) osas N TR > —23

o caan (%l

The probability of success of three students in CA Foundation efmination are
1/5, 1/4 and 1/3 respectively. Find the proba@ that at least two students

Tl Enogess.
(A) 2/5

8s.

?

u9/1/6 O 1500 Lyl2rb Lag ) ¢
L W sy 95%({«"
86. IfP(A)=0.65 and P(B) = 0.15, then P(&) + P(B) is : LNy e
ORI S a-sﬂog%u > 1tz a
©€) 08 — (D) 035

SPK

uuw‘"”u\ ]

® gl Lrodh) iz

W 4+—

s

88.

Wean =22and S.D.=5

@1)
ol SPK

The quartile deviation of a norma] distribution wit

Deviation of 4 is : h Mean of 10 gng Standard
. N
A 270 Yy 0615  (B) 320 W= g
(©) 0675 (D) 675 S

If X and Y are 2 independent normal variables with mean as 10 and 1 d
Standard Deviation (5.D.) as 3 and 4 respectively, then (X +Y) is norm:?ly

istributed with : nw — —
distri 7= lotle= 30;’3?4.17,:{
(A) Mean=22andS.D. =_Z’ (B) Mean=22and S.D. =25

—_—

(D) Mean =22 and S.D. =49

9. The number of accidents in a year attributed to taxi drivers in a locality

7

follows Poisson distribution with average 2. Out of 500 taxi drivers of that
area, what is the number of drivers with at least 3 accidents in a year ? (Given

that e = 2.718) 'V'\—/W 2 5 (v )rbi)l o

(C) 201 Qo‘a 1—‘&—;}’\*’;\*‘3) 190 »cx 3 Q.mé;',?’
W e AP g

90.

; 2
— -2 (1« ‘ —a
Itrt)= O 212 XSO0

In a class of 100 students, the mean marks was 50 with standard deviation

14.9. Assuming the distribution of marks to be normal, find the number of

students who obtained mth Z=1.34,area= 0.2999].
‘32 <56

@ 10 pCy ,70) 2
© 8 o (D) 7 |0 94 09)
. P(_é 50 )7‘2“?0 )CF(’Z )’%Y)Cl"#)(')?
oo TR 134)
}' If a random variable X follows Poisson distribution such that P(X = 1) =
" P(X =2), then the mean of the distribution is : JUONON e
Vel e @
- 2 Kr\ (B) 1 Tz T
\ ]
C o _ 2 (D) 12 / g
@0 WM FGEOR S ol
( < SPK e v g

Jr. =M —2—
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owing statement is correct regarding limit of the two

. Which on¢ of the foll e e

" egessoncofiets

(A) No limit.

(B) Must be positive.
(C) One positive and the other negative.

%product of the regression coefficients must be numerically less than unity,

In case of “Insurance companies’ profits” and “The number of claims they

93. e
have to pay”, there exists a : /]\ \L
(A) Positive correlation B Negative correlation
(C) No correlation (D) It cannot be predicted

94. The variance of two variables ‘x’ and ‘y’ are 16 and 25 and covariance

between ‘x” and ‘y’ is 18.5. Another two variables ‘u’ and ‘v’ are defined as
u=(x-3)/2 and v = (y - 2)/3, then coefficient of correlation between ‘u’ and

‘Vis: o & .
(A) 0.85 ®) 0875 & __ > ~ 0%y
(©) 0.90 s

(’9 0.925
6oy ;Fb"x,j — 5425

QAR
P % m&/&ﬂ

(B) Regression coefficients are independent of origin and scale. K

95. Which of the following statement is correct ?

(A) Both regression coefficients must be less than unity.x

The regression lines of two independent variables are parallel to each

1

other. <&« - —

(D) If two regression lin;{ coincide with each other, there is no correlation
SHOCOICIaton.

between the variates. L .
poe pr v e

o SPK

*96.  The valye index g equal to :

(A) The totg] SUM of the yajyeg of a

values of the e Biven year ‘ﬂ%{
year. Mysiblied
(B) The totg) sum of ¢ Y the sym of the

he valy i
the base year, ¢sofa glven y%us the sup of the vq
Values of

(S The total sym of
the yal i .
values of the bog o) ues of a given year divided by
s of the base yegy Y the sum of e

(D) The total sum of ey
alue i
of the base year, s of a given year ﬁi{us the sum of the values

L]
£

22
97. During a certain period the'cost of living ;
: Iving index goes up f,
/ the sa_Iar).' of a worker is also raised from ¥ 330 tog€ 500pthe‘:1n:‘nlt]ho . 2100 o
the raise in salary is effectively- ’ M

(A) GainbyZ 50 nc; ngg
o]
(C) LossbyZ90 = . ;-
5 205-2%

A ok —
98. Which one of th.e follomng test of adequacy is concerned with the =3
measurement of price changes over a period of years, when it s desirable to

shift the base ? Chy
(A) Unit test £ (B) Time Reversal test

(W9
' (D) Factor Reversal test

yircular test
/’

99. The consumer price index for the year 2023 is 273 with 2010 as base year. The
average monthly wages of industrial worker in year 2023 is ¥ 8,190. What is

the real wage ? = =
87 23,000 &10 L \OD

(A) T2,800 i
(C) 3,200 ‘(:'; (D) 3,400 27 3

S P
100. Time Reversal test is satigfied by :

Wbmrﬁs—me&hed’ﬂdf not Fisher’s method
(B) Paasche’s-metiiod biithot Laspeyre’s method

Fisher’s method

(D) Laspeyre’s method and Fisher’s method

SPK




